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Q1: Distribu,on of annual earnings of all bank tellers with 5 years 

experience is given. The Distribu,on has a mean of Rs 19,000 and a 

standard devia,on of Rs 2,000. If we draw a random sample of 30 

tellers, what is the probability that their earnings will average more 

than Rs 19,750? 
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Q2: Kamala, an auditor for a large credit company, knows that on 

average, the monthly balance of any given customer is Rs 112 and 

standard devia,on is Rs 56. If she audits 50 randomly selected 

accounts. What is the probability that the sample average monthly 

balance is: 

a) Below Rs 100? 

b) Between Rs 100 & Rs 130? 

  

M = 112
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n=50
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Q3: A Bank calculates that its individual savings accounts are 

normally distributed with a mean of Rs 2000 and standard devia,on 

of Rs 600. If the bank takes a random sample of 100 accounts, what 

is the probability that the sample mean will lie between Rs 1900 and 

Rs 2050? 
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Q4: find arithme,c mean of the following: 

C.I. 0-20 20-40 40-60 60-80 

Freq 5 8 10 7 
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Q5: Find the median 

C.I. 5-9 10-14 15-19 20-24 25-29 

Freq 16 18 20 32 14 
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Q6: Test-score distribution of 45 candidates 

Score Range Frequency 

0 – 20 4 

20 – 40 9 

40 – 60 20 

60 – 80 8 

80 – 100 4 

Determine the mode score. 
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Q7: Find the Mean devia,on and coefficient of mean devia,on: 

C.I. 10-20 20-30 30-40 40-50 50-60 

Freq 16 18 20 32 14 

 

  M .Di Gefficient of mean Deviation
= MI
mean

C.I F ⑯ #⑫
10-2 16 x 15 240 336 If

20-30 18 x
25450 36 198

30-40 20x35 70 36 20

40-50 39
*
45144036 288

50 - 60 14 55
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Q8: Find Standard Devia,on and Coefficient of Varia,on for the 

following data:  4, 5, 8, 2, 3, 6. 

 

  oi grouped
CoV=
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Q9: Calculate the correla,on coefficient for the following datasets. 

x 51 55 78 63 61 89 77 

y 58 62 57 61 57 82 58 
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x y x2 y2 xy 

51 58 2601 3364 2958 

55 62 3025 3844 3410 

78 57 6084 3249 4446 

63 61 3969 3721 3843 

61 57 3721 3249 3477 

89 82 7921 6724 7298 

77 58 5929 3364 4466 

474 435 33250 27515 29898 
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Q10: Es,mate the value of y when x = 73. Take Value as previous 

Ques,on. 

  
-> Slope of a = y - bi

Y = +
b line

b I-
Y-intercept H
a = 36-803 == 03-Ib = 0 .3842 ( -

62. 14 - 0.3842x67.71

y = 36
. 803+ 0.3842x55

= 62 -14-25 .337

⑯84 = 36.803

#
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Q11. Calculate Seasonal Index for years. 

Year Q1 Q2 Q3 Q4 

1998 87 106 86 125 

1999 85 110 83 127 

2000 84 105 87 128 

2001 88 104 88 124 

 

  

1998+ 18 X 10 = 104/4 = 10

101 . 0625 =105/4 = 101 .25

9.93%
= 404/4 : 101

⑮100- 184.
= 404/4 = 10

grandang-+10125+
.0625
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Q12: Manufacturer who produces medicine bo^les, find that 0.1% of 

the bo^les are defec,ve the bo^les are packed in a box containing 

500 bo^les. A drug manufacturer buys 100 boxes from the producer 

of bo^le using poison distribu,on find how many boxes will contain 

no defec,ve? e-0.5 = 0.6065 

  

-

-
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#(x)= mean =m =up = 500 X0 .001

= 0 .5
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The Poisson distribution is a way to model how often an event 

happens in a fixed interval of time or space, under these simple 

conditions: 

1. Events occur one at a time (you can’t have two events happening 

at exactly the same instant). 

2. The average rate is constant (e.g., you get on average 3 phone 

calls per hour, every hour). 

3. Events happen independently (one call doesn’t make another call 

more or less likely). 
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Q13. Normal popula,on of 1000 employees has mean income Rs. 

800 per day and variance 400, Find no. of employees where income 

between 

(i) P (750 < x < 820) 

(ii) P (x > 700) 

(iii) P (x > 760) 

  

M = 800, 02 = 400

So
E Z = in - M

-

o

7 So- 800

20

I
-E-2
- 2.5/2<

I 0 .4938 + 0 -3413Ex1000yes= 0 .8351
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Q14: An undergraduate is interested in purchasing a used TV. She 

randomly selected 125 adver,sements and found that the average 

price of the TV in this sample was Rs 3250. She knows that the 

standard devia,on of the used TV is Rs 615 in the city 

a) Establish an interval for the average price of the TV so that she can 

be 68.3 percent certain that the populaRon mean lies within this 

interval 

b) Establish an interval for the average price of the TV so that she can 

be 95.5 percent certain that the populaRon mean lies within this 

interval 

  

n = 125

M =3250

0= 615

-

-

-

= 325011 [68. 34.]

t155

3250 [SE ⑮5-3195
⑮Illo ->-314y
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Q15: For a popula,on with known SD of 1.65, a sample of 32 items 

resulted in 34.8 as an es,mate of the mean. 

a) Find the standard error of the mean 

b) Compute and interval esRmate that should include the populaRon 

mean 99.7% of the Rme. 

  

M

-

M

- t

-
-

= I = 165 = 0 .292
In J52 = #34.81 2.96X0 . 292

34-810 .86Y

⑮. 664 - 33 .936 ⑰.9697%
U
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Q16: A social psychologist surveyed 150 top graduate students and 

found that 42% of them were unable to add the frac,ons correctly. 

a) EsRmate the SE of the populaRon 

b) Construct a 99% confidence interval for the true proporRon of the 

graduate who cannot correctly add fracRons. 

  

--

[ J
-

n = 150
Se = Jap = 0 .42

q = 1 - 0..42 =0 .58 -05
27 99 % = 0 . 99/2 Ipart

↳ ⑳95
=>

⑮T
2. 58X0 . 0402

C ⑯03mean = up⑭↳⑯X pl 2.58 XE

0 .4210 . 103

--
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Q17: A company reports the following for the year: 

Total revenue (Gross Sales) = ₹1,500,000 

Excise duty paid = ₹100,000 

Cost of goods sold (COGS) = ₹700,000 

Operating expenses = ₹300,000 

Non-operating surplus (e.g. rent income) = ₹50,000 

Interest expense = ₹20,000 

Tax expense = ₹60,000 

Compute: Net Sales, Gross Profit, Operating Profit, EBIT, Profit 

Before Tax, and Profit After Tax. 

  

① Net sales
= gross sales-excise dury
- 1500000 - 100000
= 100000

⑪ gross profe = Net sales
- LGS

= 100000 - 700p

= 70009

III. Operating profit : Gross profit - of
- 700,000 -300000 = 400000

EBIT = operating profit + Non operating supply
= 400000 + 50000 =1000

# PBT = EBIT- 1 = 450000 - 20000 = 430000

⑪ PAT = PBT-Tax = 430,000 - 60000 = 300

⑰epmpr836044207


